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Linearized knot diagam
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Solving Sequence

338-22—>1—>7—>9->10>4—>6—>11—>5—> 12> C4,C11
c [ g C9 €3 Cg Ci0 C5 C12

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I =" —u®® 4+ —u?+ 1)

* 1 irreducible components of dim¢ = 0, with total 44 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIF=(u**—u¥®+... —u?+1)

(i) Arc colorings

w= (3)

0
a8 = u
1
ag = _u2
—u?+1
a’l = _u2
U
ar = \—ud+u
—u3
ag = wd —ud 4 u
u? —2u” +3u® — 4wt +u
a0 =\ v —u” +3ud —2u® +u
—u® 4+ 300 — 8ut + 15u'? — 19010 4 2148 — 14u8 + 6ut —u? 41
a4 = —u'® 4+ 2010 — 7t + 10u!? — 1500 + 14u® — 10u8 + 4u® — u?
ub +u
a6 = \—u’ +u® —2u® +u
u?t —2u'® 4 —4ud tu
ajl = _u23+3u21+._'_2u3+u
T — 4+ 4+ 5ud +u
as = \ —u3 + 5037 + ... —2u3 4w
_u34_|_5u32_~_._._u2+1
a1o = —u34—|—4u32+---—4u6—u2
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u*3 — 24u* + ... — 8u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Ce, C8 WM 11+ 2u+1
C2,¢7 T T o |
3 B 4+ =200+ 1
C4, Cs5, C10 I SRR L BT S |
C11,C12
9 ut =T —8u 4T




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, Cg, Cs y* 45yt 422y 41
Ca, C7 y =11y -2y 41
3 yt B 4+ — 146y + 1
C4,C5,C10 y44+57y43+72y+1
C11,C12
Co y* + 5y® . — 662y + 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = 0.973577 4 0.1649221

—15.0825 4 1.69021

—8.15131 + 0.482211

u= 0.973577 — 0.1649221

—15.0825 — 1.69021

—8.15131 — 0.482211

u = 0.953126 4 0.3506591

—4.40949 — 6.073071

—4.94666 + 8.499171

u= 0.953126 — 0.3506591

—4.40949 + 6.073071

—4.94666 — 8.499171

u = —0.895823 4 0.3443491

—0.76004 + 3.522721

0.90093 — 8.671491

u = —0.895823 — 0.3443491

—0.76004 — 3.522721

0.90093 + 8.671491

u = —0.984525 + 0.3548241 —13.9897 4 7.45691 —5.72896 — 6.669611
u = —0.984525 — 0.3548241 —13.9897 — 7.45691 —5.72896 + 6.669611
u = —0.925891 + 0.1754321 —5.40173 — 0.744991 —8.08077 + 0.344061
u = —0.925891 — 0.1754321 —5.40173 + 0.744991 —8.08077 — 0.344061
u= 0.827466 + 0.2551781 —1.38547 — 0.924601 —2.73817 + 0.094241
u = 0.827466 — 0.2551781 —1.38547 + 0.924601 —2.73817 — 0.094241
u = —0.615862 4 0.6048351 —9.75255 4 2.214491 0.08262 — 3.140301
u = —0.615862 — 0.6048351 —9.75255 — 2.214491 0.08262 + 3.140301
u = —0.902990 + 0.7187591 —10.10340 4 2.726231 —2.70072 — 3.121491
u = —0.902990 — 0.7187591 —10.10340 — 2.726231 —2.70072 + 3.121491
u = 0.892831 + 0.7691981 —0.21070 — 2.907421 —2.24337 + 2.684401
u = 0.892831 — 0.7691981 —0.21070 + 2.907421 —2.24337 — 2.684401
u = 0.817945 4 0.8760601 —6.01810 + 5.505861 0. —1.932891
u= 0.817945 — 0.8760601 —6.01810 — 5.505861 0.+ 1.932891
u = —0.829954 4 0.8667171 3.36907 — 3.823261 1.37231 + 3.412331

—0.829954 — 0.8667171

&
-~
I

3.36907 + 3.823261

1.37231 — 3.412331

0.848035 + 0.8578651

S
|

6.75596 + 0.772491

6.88350 — 1.616711

0.848035 — 0.8578651

S

6.75596 — 0.772491

6.88350 4+ 1.616711

u = —0.869487 + 0.8431921

5.36576 4 2.396011

3.40471 — 4.611381

u = —0.869487 — 0.8431921

5.36576 — 2.396011

3.40471 +4.611381

u = —0.932920 4 0.8188611

5.16549 + 3.797141

3.00062 + 0.1

u = —0.932920 — 0.8188611

5.16549 — 3.797141

3.00062 + 0.1

u=0.909164 + 0.8545911

—2.08909 — 3.169251

2.00000 + 2.556151

u= 0.909164 — 0.8545911

—2.08909 + 3.169251

2.00000 — 2.556151




Solutions to I7*

V=1(vol + v=1CS)

Cusp shape

u= 0.954586 + 0.8181881

6.42188 — 7.006651

5.98798 + 6.769381

u=0.954586 — 0.8181881

6.42188 + 7.006651

5.98798 — 6.769381

u = —0.969590 + 0.8141177 2.93183 4 10.069201 0. —8.259711
u = —0.969590 — 0.8141171 2.93183 — 10.069201 0.+ 8.259711
u= 0.980677+ 0.8127161 —6.52850 — 11.773601 0.+ 6.741451
uw= 0.980677 —0.8127161 —6.52850 4 11.773601 0. —6.741451

u=0.554006 + 0.4596651

—0.93127 — 1.664231

1.39492 + 5.366341

u = 0.554006 — 0.459665]

—0.93127 + 1.664231

1.39492 — 5.366341

u = —0.177999 + 0.6379571

—11.46970 — 3.903821

—0.05667 + 2.218071

u = —0.177999 — 0.6379571

—11.46970 + 3.903821

—0.05667 — 2.218071

u=0.196554 + 0.5709631

—2.11354 + 2.703651

0.96683 — 3.890241

u= 0.196554 — 0.5709631

—2.11354 — 2.703651

0.96683 + 3.890241

u = —0.302925 + 0.4536731

1.018180 — 0.4109601

9.05285 + 1.738791

u = —0.302925 — 0.4536731

1.018180 + 0.4109601

9.05285 — 1.738791




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cg, C8 w11 4 2u 41
c2,C7 a4 w41
€3 u a4 —20u+ 1
€4, Cs5,C10 Wt B o1
C11,C12
Co utt — Ut - 82u T




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, Ce,C8 y M Ay 22y + 1
Ca2, C7 yM -1yt — 2y 41
€3 y My - 146y + 1
€4, Cs5,C10 y44+57y43+---—2y+1
€11, C12
€9 y* + 5y + - — 662y + 49




